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Introduction
In this contribution we take the case of a UE being suspended while being served by an MeNB and an SgNB. We would like to discuss what happens when the UE resumes and in particular the case that the UE resumes in the same MeNB. In the following we discuss about this case and present our views.
Discussion 
Our starting point is a UE in EN-DC. The UE is served by an MeNB and an SgNB and at some point, the UE is moved into RRC_IDLE by means of the suspend procedure. Regarding the SN terminated bearers when suspend procedure is conducted, we think it should be up to MeNB implementation if any should be kept or removed. As far as the context in the SgNB is concerned, we assume that MeNB would require that the UE context is kept in SgNB-CU, but the UE context in SgNB-DU is removed since the latest consumes resources and would trigger SCG failure on the network side. 
When the UE resumes we examine the case that the UE returns to the same MeNB and in addition the MeNB determines it will not be able to use the same GTP TEIDs as it had prior to the resume.
Some possible reasons for not being able to use the same GTP TEIDs are given below.
· The bearers (tunnels) under question were configured in SgNB prior to suspend, but at resume MeNB may decide not to use SgNB at all or use a different SgNB
· The bearers were configured in MeNB prior to suspend (or moved from the SgNB at suspend), but at resume the MeNB may decide to move the bearers to SgNB to support smooth transition to EN-DC
· Any other reason (e.g. resource load balancing) why it is not possible to use the same GTP TEIDs for the bearer(s) when resume procedure is to be conducted.

Observation 1	At UE resume, the MeNB may not be able to use the same GTP TEIDs as were used before the UE was suspended.

In that case it needs to be possible for the MeNB to change the GTP TEIDs although the UE returns to the same node. 
We believe that this can be achieved with path switch. 
So, based on the above we propose that the MeNB can use path switch in order to change the GTP TEIDs
Proposal 1	the MeNB can use path switch in order to change the GTP TEIDs 




Conclusion
In this contribution, we discussed the case of UE resume and subsequent change of GTP TEIDs and we made the following proposal.
[bookmark: _In-sequence_SDU_delivery]Proposal 1	the MeNB can use path switch in order to change the GTP TEIDs 


References

	1/2	
